L Eroncés Réponses |
Activité Mentale

Seconde




Enoncés 1 23 45

Résoudre 22 +4 =75



Enoncés 1 23 45

Résoudre z +4%2 =57



Enoncés 1 23 45

Résoudre (z +4)? =5



Enoncés 1 2 3 45

Résoudre 22 + 42 =5



Enoncés 1 2345

Résoudre 22 + 4% = 52



Enoncés 1 2345

Correction



Réponses 1 23 45

Résoudre 22 +4 =5



Réponses 1 23 45

Résoudre 22 +4 =5

Réponse : x = —louzxz =1



Réponses 1 23 45

Résoudre z +4%2 =157



Réponses 1 23 45

Résoudre z +4%2 =157

Réponse : x = —11



Réponses 1 23 45

Résoudre (z +4)? =5



Réponses 1 23 45

Résoudre (z +4)? =5

Réponse:x:—\f—éloua;:\f—ll



Réponses 1 2 3 45

Résoudre 2 + 42 =5



Réponses 1 2 3 45

Résoudre 2 + 42 =5

Réponse : Pas de solution



Réponses 1 23 45

Résoudre 22 + 4% = 52



Réponses 1 23 45

Résoudre 22 + 4% = 52

Réponse : x = —3 ou z = 3



	Énoncés
	1
	2
	3
	4
	5

	Réponses
	1
	2
	3
	4
	5


